OLIVEHURST PUBLIC UTILITY DISTRICT - OVERTIME REPORT FOR THE FOR THE WORK OF September 2022

DATE	DAY	HOURS	EMPLOYEE	TIME	DESCRIPTION
08/30/22	Tuesday	2.50	Ackerly, M 12:00 AM		Unknown
08/28/22	Sunday	0.50	Ackerly, M 4:40 PM		LS 15 analog 1 low level
08/30/22	Tuesday	1.00	Bechtel, E	12:00 AM	UV cleaning
08/29/22	Monday	1.00	Bellinger, T	6:00 AM	Station coverage for structure fire
09/02/22	Friday	15.00	Bellinger, T	3:00 PM	Strike team coverage
09/03/22	Saturday	24.00	Bellinger, T	8:00 AM	Strike team coverage
09/04/22	Sunday	24.00	Bellinger, T	8:00 AM	Strike team coverage
09/04/22	Sunday	24.00	Capewell, C	8:00 AM	Strike team coverage
09/23/22	Friday	2.00	Carpineta, A	7:00 PM	Drill
09/03/22	Saturday	24.00	Carpineta, A	8:00 AM	Strike team coverage
09/04/22	Sunday	24.00	Carpineta, A	8:00 AM	Strike team coverage
08/31/22	Wednesday	2.00	Castillo, R	4:30 PM	Turn on service
08/22/22	Monday	2.00	Castillo, R	6:30 PM	Water leak at River Park
08/23/22	Tuesday	2.00	Castillo, R	4:45 PM	Turn off repairs
08/23/22	Tuesday	3.00	Fisher, J	6:00 PM	Drill
08/29/22	Monday	5.00	Fisher, J	12:00 AM	Fires
08/30/22	Tuesday	2.00	Fisher, J	12:00 AM	MVA
08/23/22	Tuesday	2.00	Galluzzo, J	7:00 PM	Drill
08/30/22	Tuesday	2.50	Joseph, J	3:30 PM	UV cleaning
08/23/22	Tuesday	4.00	Joseph, J	3:30 PM	LS 11 call out
08/22/22	Monday	0.50	Joseph, J	8:30 PM	LS 11 high fault
08/24/22	Wednesday	0.50	Joseph, J	2:49 AM	LS 11 low fault
08/25/22	Thursday	0.50	Joseph, J	2:49 AM	LS 11 low fault
09/01/22	Thursday	1.00	MacDonald, B	4:00 PM	Finishing finals
09/02/22	Friday	2.00	Menchaca, L	7:00 AM	Completing reports
09/03/22	Saturday	2.00	Menchaca, L	1:13 PM	Turn off repairs
09/03/22	Thursday	2.00	Menchaca, L	11:40 PM	Turn on service
09/04/22	Sunday	2.00	Menchaca, L	3:30 AM	Turn off repairs
09/04/22	Sunday	2.00	Menchaca, L	4:10 PM	Wheeler fault Well 30
08/22/22	Monday	1.00	Murray, L	11:20 PM	Mutual aid medical
08/23/22	Tuesday	3.00	Murray, L	6:00 PM	Drill
08/27/22	Saturday	1.00	Murray, L	8:00 PM	Grass fire
08/29/22	Monday	2.00	Murray, L	3:45 AM	Trailer fire
08/30/22	Tuesday	1.00	Murray, L	6:00 AM	Structure fire
09/03/22	Saturday	24.00	Murray, L	8:00 AM	Strike team coverage
09/04/22	Sunday	2.00	Murray, L	3:00 PM	Mutual aid grass fire
09/04/22	Sunday	1.00	Murray, L	8:00 PM	MVA
08/30/22	Tuesday	2.50	Nielsen, D	3:30 PM	Wastewater UV - manager request
08/30/22	Tuesday	2.50	Phillips, J	3:30 PM	UV cleaning

08/30/22	Tuesday	2.50	Pomeroy, N	3:30 PM	UV cleaning
09/04/22	Sunday	4.00	Pomeroy, N	6:00 AM	Hard Rock WWTF coverage
08/29/22	Monday	1.00	Rodriguez, G	4:00 PM	Well 4 leak
08/30/22	Tuesday	2.50	Teal, L	3:30 PM	UV cleaning
09/01/22	Thursday	2.00	Teal, L	10:00 PM	Hard Rock SCADA
09/01/22	Thursday	2.00	Teal, L	10:00 AM	Hard Rock SCADA
09/03/22	Saturday	4.00	Teal, L	4:00 PM	Hard Rock WWTF coverage
09/05/22	Monday	0.50	Ackerly, M	6:20 PM	River Oaks analog high fault
09/09/22	Friday	2.00	Ackerly, M	11:32 PM	River Oaks pump down
09/09/22	Friday	24.00	Bellinger, T	8:00 AM	Strike team coverage
09/10/22	Saturday	24.00	Bellinger, T	8:00 AM	Strike team coverage
09/09/22	Friday	24.00	Carpineta, A	8:00 AM	Strike team coverage
09/10/22	Saturday	24.00	Carpineta, A	8:00 AM	Strike team coverage
09/15/22	Thursday	8.00	Carpineta, A	8:00 AM	Strike team coverage
09/07/22	Wednesday	24.00	Caselli, C	8:00 AM	Staff coverage
09/08/22	Thursday	24.00	Caselli, C	8:00 AM	Staff coverage
09/13/22	Tuesday	24.00	Caselli, C	8:00 AM	Staff coverage
09/14/22	Wednesday	24.00	Caselli, C	8:00 AM	Staff coverage
09/13/22	Tuesday	2.00	Castillo, R	4:05 PM	Turn on service
09/13/22	Tuesday	2.00	Castillo, R	6:45 PM	Turn on service
09/14/22	Wednesday	2.00	Castillo, R	4:10 PM	Turn on service
09/15/22	Thursday	2.00	Castillo, R	4:30 PM	Turn on service
09/09/22	Friday	24.00	Galluzzo, J	8:00 AM	Strike team coverage
09/15/22	Thursday	8.00	Galluzzo, J	8:00 AM	Strike team coverage
09/14/22	Wednesday	3.50	Joseph, J	3:30 PM	LS pump at ron 1 plugged
09/15/22	Thursday	0.50	Joseph, J	6:30 AM	Pump at ron 1 plugged
09/18/22	Sunday	5.00	Joseph, J	2:30 PM	LS 1 power outage
09/06/22	Tuesday	1.00	Joseph, J	3:30 PM	Possible power outages at all LS
09/16/22	Friday	2.00	MacDonald, B	4:31 PM	PL Walgreens irrigation leak
09/16/22	Friday	2.00	MacDonald, B	10:04 PM	Turn on service
09/17/22	Saturday	2.00	MacDonald, B	8:45 AM	Water leak at vacant house
09/18/22	Sunday	2.00	MacDonald, B	6:00 PM	Wheeler Ranch
09/05/22	Monday	3.00	MacDonald, B	7:00 AM	Water Treatment Plant checks - holiday coverage
09/05/22	Monday	2.00	MacDonald, B	8:31 PM	Customer call
09/09/22	Friday	1.50	MacDonald, B	4:00 PM	Catch up on work
09/07/22	Wednesday	2.00	Murray, L	5:00 PM	Veg fire
09/08/22	Thursday	1.00	Murray, L	8:30 PM	Auto fire
09/10/22	Saturday	24.00	Murray, L	8:00 AM	Strike team coverage
09/13/22	Tuesday	2.00	Murray, L	7:00 PM	Drill
09/17/22	Saturday	8.00	Nielsen, D	7:00 AM	Ron 1 wet well clean
09/18/22	Sunday	3.00	Nielsen, D	4:00 PM	PG&E outage
09/17/22	Saturday	8.00	Phillips, J	7:00 AM	Ron 1 wet well clean
09/18/22	Sunday	4.00	Pomeroy, N	6:00 AM	Hard Rock WWTF coverage
09/05/22	Monday	5.00	Pomeroy, N	3:30 PM	Holiday coverage

09/06/22	Tuesday	1.00	Pomeroy, N	6:12 PM	Hard Rock uv low intensity
09/11/22	Sunday	4.00	Pomeroy, N	6:00 AM	Hard Rock WWTF coverage
09/12/22	Monday	3.00	Rodriguez, G	10:30 PM	Well pump 30 down
09/13/22	Tuesday	2.00	Rodriguez, G	3:30 AM	Well 29 pump fault
09/06/22	Tuesday	1.00	Rodriguez, G	12:00 PM	Hard Rock pump
09/07/22	Wednesday	0.50	Rodriguez, G	12:00 PM	Hard Rock pump
09/07/22	Wednesday	0.50	Rodriguez, G	12:30 PM	Well 4 ac down
09/10/22	Saturday	2.00	Rodriguez, G	2:00 PM	Hard Rock tank refill
09/11/22	Sunday	2.00	Rodriguez, G	8:00 AM	Hard Rock WTP check
09/11/22	Sunday	2.00	Rodriguez, G	2:00 PM	Hard Rock tank refill
09/11/22	Sunday	1.00	Rodriguez, G	10:00 AM	AC frozen over and defrosting
09/17/22	Saturday	4.00	Teal, L	5:00 AM	Hard Rock coverage
09/10/22	Saturday	4.00	Teal, L	4:00 AM	Hard Rock coverage
	T ()	500.00			

Total: 588.00

DATE	DAY	HOURS	EMPLOYEE	TIME	DESCRIPTION
08/30/22	Tuesday	2.50	Prather, D	7:00 AM	UV Cleaning
08/29/22	Monday	1.00	Ritchie, B	5:00 PM	Director Texts
08/30/22	Tuesday	1.75	Ritchie, B	4:00 PM	Fire and Parks committee meetings
08/31/22	Wednesday	1.25	Ritchie, B	5:00 PM	Water/Wastewater committee meetings
08/31/22	Wednesday	0.25	Ritchie, B	9:32 PM	Employee phone call - target solutions training
09/15/22	Thursday	4.00	Ritchie, B	5:00 PM	Board meeting
	Saturday				
	Saturday				

Total: 10.75

HOURS	WAGES	TOTAL	EMPLOYEE
-	\$39.41	\$ -	Aust, H
5.50	\$30.84	\$ 169.62	Ackerly, M
1.00	\$52.16	\$ 52.16	Bechtel, E
112.00	\$24.57	\$ 2,751.84	Bellinger, T
-	\$30.75	\$ -	Bunn, S
106.00	\$32.82	\$ 3,478.92	Carpineta, A
96.00	\$29.76	\$ 2,856.96	Caselli, C
14.00	\$44.94	\$ 629.16	Castillo, R
24.00	\$26.25	\$ 630.00	Capewell, C
-	\$24.57	\$ -	Chubb, C
10.00	\$32.72	\$ 327.20	Fisher, J
34.00	\$27.48	\$ 934.32	Galluzzo, J
18.00	\$37.47	\$ 674.46	Joseph, J
-	\$41.54	\$ -	Lewis, A
15.50	\$38.19	\$ 591.95	MacDonald, B
10.00	\$54.81	\$ 548.10	Menchaca, L
-	\$55.70	\$ -	Koller, S
-	\$32.30	\$ -	McClure, J
-	\$28.46	\$ -	Monahan, B
64.00	\$34.35	\$ 2,198.40	Murray, L
13.50	\$52.50	\$ 708.75	Nielsen, D
10.50	\$44.37	\$ 465.89	Phillips, J
20.50	\$59.79	\$ 1,225.70	Pomeroy, N
2.50	\$60.95	\$ 152.38	Prather, D
8.25	\$49.17	\$ 405.65	Ritchie, B
15.00	\$52.46	\$ 786.90	Rodriguez, G
-	\$25.80	\$ -	Staton, S
18.50	\$60.38	\$ 1,117.03	Teal, L
-	\$50.40	\$ 34.40	Velazquez, J

SUMMARY OF OVERTIME PAID AND COMPENSATORY TIME OFF ACCRUED